Answers — Week 7

7-1. Mechanical work, AW = F.AS = FAS Cos (I, AS).

(i) 32.817
(i)  Zero
(iii)  Zero
7-3. (1) Zero
(i) 497
(iv) 2557
7-5. (i) W_ ., = —EFMA
1

() Wiy == Fyd

7-7. A force for which the work done is independent of the path and determined only
by the end points.

7-9. It is the amount of work stored in a system when it is assembled in the presence of
a conservative force. In order to perform the assembling one must apply a force
equal but opposite to the conservative force hence change in potential energy
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7-11. The centripetal force is provided by the Earth so
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7-13. ()  4x10*J
() 3x10%J

7-15. 8.4 m/s




